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I 17 mwn: restriction of 1”13 to an NnYR and subsets
a regardless of whether she is o1& 10 NINYR or from marriage
i asperv.1, unlike 10N (PRIV2IN 0 NINOR) — since it is juxtaposed to NW11), where we don’t distinguish
b na(girl after age of m 1 has passed; i.e. puberty + 6 months)
i (™M) p"n - forbidden
1 n%nawould mean — even a minimal nY N2
2 mYnaadds to a maximal n%1na - barring a nana
3 mYnaa defines — only 13773 (for a M1 R MYP)
ii  w" R™ - permitted
1 n%na would mean —a maximal nY1na
2 5 nalimits — any type of nmna
3 mYna1 expands to allow for 3772 X5V NXIa
c  NMTIRYY AR
i 17:invalidates for nnn3
ii  challenge: v. 2 and associated w1Tn which excludes 3”9 man%x
1 explanation: must be nin%R who was 12772 X5w 3"n2% nYya)
2 proof: only limited as ninbR, not considered a n%ya
3 therefore: n3773 RYW NXa doesn’t render her a n%wa
iii  defense:
1 w1 authored by n™, 21 ruled like x™
2 challenge: ®™ holds that nr nrwY nan Y» Ran-> this nnYR should now be a N
3 defense: she had nxva with a nnna — makes her n%ya but not N
(a) challenge (»2x): inconsistent; if the nk»1 is considered, it should be so for both n%1ya and mar
4 answer: case of marnn, where she isn’t considered nnt but is considered nYya
iv  ruling: nnna oy nk»a doesn’t invalidate for nnn> — following v. 3:
1  The flip (a% pnR) isn’t invalid for nam = not considered nit
d nonr (xn»1)
i "n3 should not marry nonr- but if he does, marriage is valid
1 xnn": but he must divorce via
(a) implication of ®w) = doesn’t pay v1p (in case of nmna)
(b) challenge: a »"n3 shouldn’t marry py n31m nIna — but may remain married to her T2y
(i) implication: since she would eventually become y» nam nna while married to him, the
marriage is valid and may remain
(i) application: if the marriage to ¥y nonR is valid, since she would eventually become
(1Y) ynnn n%3, there should be no requirement of a va
ii  status of child:
1 ifitis his own nonur — child is 7w>
2 ifitis another’s noux:
(a) NI -—"v>
(b) »arv-5%m
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